Beziehung HellheitB*yt und Normfarbwert Yt als Funktion von
Sehwinkel¢ fur Test- gleich Adaptationsleuchtdichtel ;=200 cd/m

B*v1(LT, Lo §) = §(Lad)LT — dy(Lar 0)
BolLar ) = Cr (0)[So(9) + Su($)Lal

200 120" 22,969 0,0718 0,2448
200 100’ 23,128 0,0747 0,2494
200 90" 23415 0,1086 0,2526
200 60" 23,973 0,1313 0,2657
200 30" 26,235 0,1797 0,3188
200 20" 27,971 0,2013 0,3555
200 10" 30,747 0,2730 0,3984

10,0U 120" 22,969 0,0718 0,2448

Hellheit B*yr
(n=0,31,L5=(Laoo/La)) [2]
5($) =Cr(@®)Lm [3] dy(Lad) =Bo(La §)Lra [4] (s=Skalierfaktor)
Yr ¢ Cr(0) Sol®) Su$) BolLad) B*vr s/Lab)dy(Labd)

30,71
31,54
33,11
36,07
47,94
57,02
71,70

30,71

99,77 26,04
99,76 26,22
99,66 26,55
99,57 27,18
99,36 29,74

99,24 31,71
98,87 34,86

50,00U 26,04

[1]

hap50-8a  La=200 L=300, Lajdr=0.66 Lajdren=0.860 <= <= 120°



